:w/ulr?dzhmiiigzozo 2:417M q :()No ?M ?
What will  ¥he temp. b at B-Sopm

6\°F TQMP

Gweale . 6F'F A3 :

kom Fpm

Drop tue WV awiks
et : &

> X (time of l’h&dﬁj)

koo Apw Mo
6446\ -1as
Tewp ox Sgopm & hewqf of ey ==
:62'5

Awother wan Yo frq. ok temnp
atr 0'“‘3 hwve ook 2 & \\?w\ s -,
Straigwt  \ine \ookween (2,64) and (\,61)

- (% (43) (X )
\ v& = Mxt+b %ﬂ £(o)
S

PO = Yo ¥ F{%er%) fx—m
eope of line  (Xe,4e) & ORYr)
f00 - f00)  Au/ay

o K\"(c

_on o+ (et—éf\) (x-% )

00
o(Rf4) -3
.(\\,(.\) — Y {_\," w




\ o) orx «)
hon = en (k) (x-n} Carsala, meprash
i—ew\P. ber Fpm

L Wpm .
P(A ) =6v +(-3L) (‘L»;) +odasy
= 6% ~ 34(2)
- 64 -\'5 =625
JFILW\ = 9
T2
Gu+e) = Avereqe of femp 1ag = 625
—a 7
O
(X34h)
Y2=0
Construct 0 Cwwe \V\.\’M'?O‘aa*‘lnﬂ dokan
oo ?o:ﬂ\'.s Cuowe
Xo Yo = %) ?‘(X) = "-(Xo) + £ Txoyx) (x ‘&o)
X\ W= f-(x‘) N4
Sope. = Y= A‘a Ngwroués DD
- \WID
G B thFﬁEENcﬁ
OF oRDERY.
Recal\
e MY X hoo

€0,0)



~

0,0
formula for POl\i '\M-e,r\wolahuaa_ 3 dafa ?o{mts?
Lask c\ags”. \':,_00 = cxXrbxar a

Use Pl =1
Prloy =O L RD=) +o
’{'\%w oUW a=0=b, c=1.
foredla 1n liea Of tue aloove afpoech |
Newtow's D.D  fenwwla-

X; \ ¥ J(x) =Take RO+ hext tewn.
% | Yo _ foe) & Bl (x%e) 4
| W c——
\(2- ‘51.. F‘L‘)
$00 ki) (%% (x-X).
/
£l - Flx,x)
¥, ~Xo

(onsivul d.egreel ?0\3 \wwevpelating the foll. data ;
{(‘\3‘) (z@,(s [y e
PIxe K] = fxy = F0o)

using WNewton’s D.D formwla. e
K Dord e e
[trsoneffee | sl ier o
X¢ \ {'C‘\.) -H:X‘ “"‘S {-[x,)x\)l(,_j B

B e
WD\ 2 7o == | ) - k)
; . o oW

= i :F‘-_XO)‘JQ

.—E——_—"




- \ Z‘llh\ |\ TITTO 7 gctionty

3 5-2 = 3% x, ~Xo =
%0 R L T

?LUO pr y\-g_g) a %[x‘:)_j}:\ (x-)‘m + Q[x,,jx\)x.,,} (x":o)@‘ ,.,g_)

—

—

\
v r XU+ (x-1) (%-2)
X 4+ x=3x+2

Py -:;: X% Lx+ 2

caneelR: b BOO \Mer‘:oh—m (\WYH )(2,?'2)(1_3')
?2_(0 A Bl =\ v
o(2) = B 22X 2 2 v~ P
%(3) = FE. &k 3 & DT =D

?:.00 :XL—’)..i-kL \S ol.zaa 2. ?—01/1 mi—er]oalakvj

(\)])‘) (2,2 & (35
P“""”‘"ﬂ‘f of Newotovs D.D_Exwé. fonmwia

Can Ree‘; o«.oLAtna) new dakos @om{'&

LV & (3,2) b,0<) =fewd Flxs)0 ) (X %)

0)2\& f;’% .00 = RO f X0y, ) (X %) %)
o )



Q-V\A (_3,6) \'2—""" - \‘\"
Use Hue Newoows D.D \”(‘3 \?avmm Yo congtruck

RO (wrenpd lakwy:
0V, (L) and (%3).

Yo fdy X ) % fo)
Xo | ) Flxiyxiad | Flexok)
O \
\ 2 FleJ= 224 =\
| \-0 FD‘O)’(\)*L‘J: -l =0o

> | 3 [flor)s 2=t \ 2-0
2L\ \ X, %o

b = Fo0) & PR )+ fesor] (6
= \ + \ (X"O) e

?,_(’0 = \ + X

?:,(.o‘) = \ /
G'LC\) = 22
() =3 3 v
Ds M’mﬁe evvoy 'nqne/oevkm Lol .

Q) = {-wnc\*\o-v\ fov all dadar \PQ:\,MM

oo~ A 4 _ .\ *
lL.e n banc exroy ﬂer‘v%QV\‘l’m‘“w'Y\




QLX) = TRV e

x
GO -\%_LX) has & ’Foclx exrov ﬁwvxfo&wv\
forrmdon  Sowd fo calculake.

|G ~fatd | = Bod exvor formdlan
Nead amobney WaY Of Cometruetivg the B, ().

Twig Ootwer formwda s colled La%mno(\e mker\:o\a&wj
poly. fomuda. BV
~ —
()(0)\55-) (X\)‘ﬁ\) ?\L(X):\io LOl(x) _\_ ﬂlLl %X)

\J/
v Jeq.gi ?0L3 vanishes

degreel Poly ak X, O 1S
Vanishes
:;\x‘ A ok X,.
andis A akx,

Rl = Yy Lelo) + 4 L0
Vo ¥ A+ Y ¥ O =Y

(A

Lxy = (XX L) = X%
(%) %
Lolke) = V  L,(4)=0 L= 0 LK)=|
)]

3 \V\\exvo\@\'\ﬂ P*/\K: (Xo) ‘jﬂ (.x‘)‘j\) 4 C"z)‘jz)

b (0= W) * Yy L)t kle,__(X),



- ) &+ U L&) £ Y L 0O,
P00 Yolo) * Y Y= = L=

5
Lolte)=1 L\(Q‘j) =\ Lo(%) =L () =0
Lot} L= Ley=L,001=0



